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import sys

sys.path.append("statlib™)

from xtest import t_test

t_test(x, y=None, alternative="two_sided", mu=0.0, paired=False, var_equal=False,

conflevel=0.95, verbose=True)}
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import sys

sys.path.append("statlib™)

from xtest2 import t_test2

t_test2(nx, mx, ux, ny, my, uy, var_equal = False, verbose=True)
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import sys
sys.path.append("statlib")
from xtest import t_test

a = t_test(x, Vy)

Welch Two Sample t-test
= 0.19389, df = 9.9949, p value = 0.85014
alternative hypothesis: true difference in means is not equal to 0
95 percent confidence interval: [-1.74874, 2.08208]
sample estimates: mean of x = 2.83333333, mean of y = 2.66666667

CRT =M THOEUKMBRICAR S L 2MWRT 2, “RT =Y DHEMBTHR Ve L p EICEED
s,



from xtest import t_test2
import numpy as np

a = t_test2(len(x), np.mean(x), np.var(x, ddof=1), len(y),
np.var(y, ddof=1))

np.mean(y),

Welch Two Sample t-test

t = 0.19389, df = 9.9949, p value = 0.85014

alternative hypothesis: true difference in means is not equal to 0
95 percent confidence interval: [-1.74874, 2.08208]

sample estimates: mean of x = 2.83333333, mean of y = 2.66666667
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a = t_test(x, y, var_equal=True)

Two Sample t-test

t = 0.19389, df = 10, p value = 0.85014

alternative hypothesis: true difference in means is not equal to O
95 percent confidence interval: [-1.74861, 2.08194]

sample estimates: mean of x = 2.83333333, mean of y = 2.66666667
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a = t_test(x, y, alternative="less")

Welch Two Sample t-test

t = 0.19389, df = 9.9949, p value = 0.57493

alternative hypothesis: true difference in means is less than 0
95 percent confidence interval: [-inf, 1.72471]

sample estimates: mean of x = 2.83333333, mean of y = 2.66666667

a = t_test(x, y, alternative="greater")

Welch Two Sample t-test

t = 0.19389, df = 9.9949, p value = 0.42507

alternative hypothesis: true difference in means is greater than 0
95 percent confidence interval: [-1.39138, inf]

sample estimates: mean of x = 2.83333333, mean of y = 2.66666667
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a = t_test(x, y, paired=True)

Paired t-test
t = 0.21035, df =5, p value = 0.84170

alternative hypothesis: true difference in means is not equal to 0
95 percent confidence interval: [-1.87007, 2.2034]

sample estimate: mean of the differences = 0.166667

import numpy as np
diff = np.ravel(x)-np.ravel(y)
a = t_test(diff)

One Sample t-test
t = 0.21035, df =5, p value = 0.84170

alternative hypothesis: true difference in means is not equal to 0
95 percent confidence interval: [-1.87007, 2.2034]

sample estimate: mean of the differences = 0.166667

a = t_test2(len(diff), np.mean(diff),

np.var (diff,

ddof=1))

One Sample t-test
t = 0.21035, df = 5, p value = 0.84170

alternative hypothesis: true difference in means is not equal to O
95 percent confidence interval: [-1.87007, 2.2034]

sample estimate: mean of the differences = 0.166667
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a = t_test(x, y, paired=True, alternative="less")

Paired t-test
t =0.21035, df =5, p value = 0.57915

alternative hypothesis: true difference in means is less than 0

95 percent confidence interval: [-inf, 1.76324]

sample estimate: mean of the differences = 0.166667

a = t_test(x, y, paired=True, alternative="greater")

Paired t-test
t = 0.21035, df =5, p value = 0.42085

alternative hypothesis: true difference in means is greater than 0

95 percent confidence interval: [-1.42991, inf]

sample estimate: mean of the differences = 0.166667

print (a)




{'"t': 0.21035158095583562, 'df': 5, 'pvalue': 0.4208483515552009,
'confint': (-1.4299051010319612, inf), 'conflevel': 0.95, 'estimate':
0.16666666666666666, 'mu': 0, 'alternative': 'greater', 'method':
'Paired t-test'}
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scipy.stats.ttest_lsamp() (XMflllETH 5,

from scipy.stats import ttest_lsamp
ttest_lsamp([2,1,3,2,4,5,3,4,6,8], 3.4)

Ttest_lsampResult(statistic=0.6030226891555271, pvalue=0.5613798502873494)

a = t_test([2,1,3,2,4,5,3,4,6,8], mu=3.4)

One Sample t-test

t = 0.60302, df =9, p value = 0.56138

alternative hypothesis: true difference in means is not equal to 3.4
95 percent confidence interval: [2.29945, 5.30055]

sample estimate: mean of the differences = 3.8

print ("t =", a["t"])

t = 0.6030226891555271

"

print("p value =", a["pvalue"])

p value = 0.5613798502873494

42 WitDH 3 2 IZEEDRE scipy.stats.ttest_rel()
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X [2,1,3,4,2,5,4,3,6,5,4]

y [3,2,3,4,1,2,3,5,4,3,2]

from scipy.stats import ttest_rel
ttest_rel(x, y)

Ttest_relResult(statistic=1.347150628109127, pvalue=0.20766366882929266)

ttest_lsamp(np.array(x) - np.array(y), 0)

Ttest_lsampResult(statistic=1.347150628109127, pvalue=0.20766366882929266)

a = t_test(x, y, paired=True)




Paired t-test

t = 1.3472, df = 10, p value = 0.20766

alternative hypothesis: true difference in means is not equal to 0
95 percent confidence interval: [-0.416159, 1.68889]

sample estimate: mean of the differences = 0.636364

print ("t =", a["t"])

t = 1.347150628109127

"

print("p value =", a["pvalue"])

p value = 0.20766366882929266
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X [2,1,3,4,2,5,4,3,6,5,4,2,1,4,5]
y [3,2,3,4,1,2,3,5,4,3,2]
from scipy.stats import ttest_ind

ttest_ind(x, y, equal_var=False)

Ttest_indResult(statistic=0.9321435176756289, pvalue=0.3605470860756169)

a = t_test(x, y)

Welch Two Sample t-test

t = 0.93214, df = 23.996, p value = 0.36055

alternative hypothesis: true difference in means is not equal to 0O
95 percent confidence interval: [-0.596043, 1.57786]

sample estimates: mean of x = 3.4, mean of y = 2.90909091

print ("t =", a["t"])

t = 0.9321435176756289

"

print("p value =", a["pvalue"])

p value = 0.3605470860756167
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ttest_ind(x, y)

Ttest_indResult(statistic=0.8883683312313673, pvalue=0.3831600163024228)



a = t_test(x, y, var_equal=True)

Two Sample t-test

t = 0.88837, df = 24, p value = 0.38316

alternative hypothesis: true difference in means is not equal to 0
95 percent confidence interval: [-0.649594, 1.63141]

sample estimates: mean of x = 3.4, mean of y = 2.90909091

print("t =", a["t"])

t = 0.8883683312313673

"

print("p value =", a["pvalue"])

p value = 0.3831600163024228




